
250 ADVENTURE, black - CKD 2021 <2021><MY><F5289U6>
WIRING HARNESS

54595

Pos Part Number Description Additional Text Quantity

1 95711075000 HARNESS WIRING REAR 1.00

2 95711078000 Wiring harness, mask 1.00

3 95811097000 Earth wire 1.00

6 93041080050 Cable 1.00

7 93038091000 Pigteil oil pressure switch 1.00

8 93511084000 PIGTAIL PH-3 FUEL PUMP 1.00

9 90611057000 relay (interlock) 4.00

10 93011058000 Starter relais 1.00

11 95811058050 Rubber grommet, starter relay 1.00

12 95811042033 Power socket, cmpl. 1.00

13 93541088000 rollover sensor 1.00

14 95811060100 Horn 1.00

15 J025080123 HH COLLAR SCREW M8X12 SW12 1.00

16 J025060167 bolt flanged-m6x1xl16xcl8.8xbl 2.00

17 28111096000 Transil unit 1.00

18 90611053000 BATTERY 12V/8AH 1.00



19 95811055010 Rubber grommet 1.00

20 93008084010 Range change metal nut M6 1.00

21 90808073000 SPECIAL SCREW M6X1X10 3.00

22 90511034000 voltage regulator 1.00

23 J025060303 FLANGED BOLT M6X30 WS10 2.00

24 90511030000 indicator relay 1.00

25 95811031000 Relay bracket 1.00

26 90508006001 SOCKET HEAD BOLT M6X12 2.00

27 95811055000 battery holder plate 1.00

28 95811055070 Battery retaining pin top 1.00

29 95811055060 Battery retaining pin 1.00

30 93511088000 Fuse 10a 6.00

31 75011088015 FUSE 15A 07 4.00

32 95811059000 Starter cable 1.00

40 93042033000 Cable earth ABS 1.00


